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Before anstwering the question, candidales should ensure that they
have been supplied the correct and complete question paper. Neo
complaint in this regard, will be entertainéd after examination.

Note : Attempt. five - questions im all, selecting two.
- questions from each pagt.

PART-A

1. (a) Discuss the.convergence of the series
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(b) Test » the convergence® of the series
Z ()" (x+1)" 1}"{x+1} 10,10
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2. (a) Pm'.reﬂ'tat .
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log (sec x +tan x) =¥ + T, A
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(b) Show that radius of curvature at the end of the
g 2
ma]uramoftheempm——ri =1 1s equal to

the semi-latus rectum of the ellipse. Tl
(c) Find all the asymptcrtﬁ ‘of the curve
y‘—ry’—r’y+ﬁ-+xz-y?=ﬂ & 6
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3. (a) Ifr'= zz+y"+z amdl«’ r".‘shawﬂutv-@'v’ +
V. =m (m+1) 3 4" TAR
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(b) _Df u =sin™ J——Jrj-* Evaluate
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4. (a) In aplane triangle ABC, Fnd the maxlmum value
of Cos A Cos B Cos C. :

(b) Prove that [1"3{1”5’;‘“ e Ty -1

sin® x
10, 10

PART - B
5. (a) Find the surface of solid generated by revolution
of the astroid x** + y*/? = a*/* about the x-axis.
(b) Find by dmj.ble integration, the area lying between
the parabola y = 4x — © and theliney=x. -10,10
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6. (a) Find the volume of the ellipsoid

2 g g2
T Hoat7=1
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(b) Prove that [(m). Fm +—;-] - 2;::?_1 [(2m) 10, 10

7. (a) For a solenoidol vector F, show that curl curl earl

curl F=V*F
(b) Find the angle between the surfaces x* + y?+ 2 =9
andz=x'+y*-3at(2,-1,2). 10, 10

8. (a) Apply Green's theorem to evaluate

é[kzrz _yz}dx_'_{xz +3|'2.'de'.*} Whm C is th'E
boundry of the area enclosed by x-axis and the

upper half of the circle x* + y* = a*.
(b) Evaluate by Stokes theorem

ﬁ(yzdx+zxdy+xydz] where C is the curve

C £
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